On the new λ -difference spaces of convergent and bounded sequences

Abdullah K. Noman and Omar H. Al-Sabri*

Department of Mathematics, Faculty of Education and Science - Rada'a

Albaydha University, Yemen

akanoman@gmail.com;

omar.alsbri@gmail.com

DOI: https://doi.org/10.56807/buj.v3i2.139

Abstract

The λ -sequence spaces c_0^{λ} , c^{λ} and c_{∞}^{ℓ} have already been studied by Mursaleen and Noman. Next, they have also studied the difference λ -sequence spaces $c_0^{\lambda}(\Delta)$, $c^{\lambda}(\Delta)$ and ∞ (Δ)by using the usual manner of difference spaces of sequences. In present paper, we will go away to use another manner in order to introduce the new λ -difference spaces $c_0(\Delta^{\lambda})$, $c(\Delta^{\lambda})$ and $c(\Delta^{\lambda})$, and then we will study their properties, bases and inclusion relations. Further, we will show that our new spaces are Banach spaces isometrically isomorphic to the related classical sequence spaces c0, c and ∞ .

Keywords: sequence spaces, λ-sequence spaces, difference spaces. AMS subject classification (2010): 40A05, 46A45, 40C05.

Introduction

We will write w for the linear space of all real or complex sequences. A sequence $x \in w$ will be simply written as x = (xk) instead of $x = (x_k)_{k=1}^{\infty}$. Also, we will use the conventions e = (1,1,1,...) and $e_k = (\delta_{nk})_{n=1}^{\infty}$ for each $k \ge 1$, that is ek is the sequence with zero terms except the k-term only which is 1

Also, any term with non -positive subscript is equal to naught, i.e. x0 = 0 and x-1 = 0. Any linear subspace of w is called a sequence space, and we will write ℓ_{∞} ,c and c0 for the classical sequence spaces of bounded, convergent and null sequences, respectively. Further, we will write

 $\ell_{\infty}(\Delta)$, $c(\Delta)$ and $c_0(\Delta)$ for the usual difference spaces, e.g. $\ell_{\infty}(\Delta) = \{x \in w : (x_k - x_{k-1}) \in \ell_{\infty}\}.$ A sequence space X together with a norm $\|\cdot\|$ is called a normed sequence space, and a complete normed sequence space is called a Banach sequence space. By a BK-space, we mean a Banach sequence space with continuous coordinates. An infinite matrix A whose real or complex entries a_{nk} for all $n, k \ge 1$ will be written as $A = [a_{nk}]$ instead of $A = [a_{nk}]_{n,k=1}^{\infty}$. The act of A on a sequence $x \in w$ is called the A-transform of x, and is defined to be the sequence $A(x) = (A_n(x))_{n=1}^{\infty}$, where $A_n(x) = \sum_{k=1}^{\infty} a_{nk} x_k; \qquad (n \ge 1),$

$$A_n(x) = \sum_{k=1}^{\infty} a_{nk} x_k; \qquad (n \ge 1),$$

provided the series on the right hand side converges for each n, and we then say that A(x) exists or is well-defined. For two sequence spaces X and Y, we say that an infinite matrix A defines a matrix operator form X to Y, which is a linear operator, and we denote it by $A: X \to Y$, if A acts form X to Y, i.e, if for every sequence $x \in X$; the A-transform of x exists and is in Y. Moreover, we will write (X,Y) for the class of all infinite matrices that map X into Y, i.e, $A \in (X,Y)$ if and only if A(x) is well-defined and $A(x) \in Y$ for every $x \in X$.

For an infinite matrix A and a sequence space X, the matrix domain of A in X is denoted by X_A which is a sequence space defined as $X_A = \{x \in w : A(x) \in X\}$. An infinite matrix A is called a triangle if $a_{nk} = 0$ for all $k \ge n$ and $a_{nn} \ne 0$ for all n, where $n, k \ge 1$. If X is a BK-space with its norm $\|\cdot\|$ and A is a triangle, then the matrix domain X_A is also a BK-space with the norm $\|\cdot\|_A$ defined by $||x||_A = ||A(x)||$ for all $x \in X_A$. We will write Δ for the band matrix of difference, that is $\Delta(x) = (x_n - x_{n-1})_{n=1}^{\infty} = (x_1, x_2 - x_1, x_3 - x_2, \cdots)$ which means that $\Delta(x_k) = x_k - x_{k-1}$ for all k. So that, the difference sequence space $c_0(\Delta), c(\Delta)$ and $\ell_{\infty}(\Delta)$ can be defined as the matrix domains of Δ in c_0 , c and ℓ_{∞} , respectively. That is $c_0(\Delta) = (c_0)_{\Delta}$, $c(\Delta) = (c)_{\Delta}$, and $\ell_{\infty}(\Delta) = (\ell_{\infty})_{\Delta}$. It is

well-known that c_0 , c and ℓ_{∞} are BK-spaces with the norm $\|\cdot\|_{\infty}$ defined by $\|x\|_{\infty} = \sup_n |x_n|$, where the supremum is taking over all positive integers n. This yields that the difference spaces $c_0(\Delta)$, $c(\Delta)$ and $\ell_{\infty}(\Delta)$ are BK-spaces with the norm $\|\cdot\|_{\Delta}$ defined by $\|x\|_{\Delta} = \sup_n |x_n - x_{n-1}|$.

The idea of constructing a new difference sequence space by means of the matrix domain of a particular triangle has largely been used by several authors, they specially introduce many new difference sequence spaces in different ways. For instance, see [1, 2, 3, 4, 5, 6, 8, 9, 11, 13, 14, 15, 17] and [19].

2 The new λ -difference sequence spaces

In this section, we will introduce the new λ -difference sequence spaces $c_0(\Delta^{\lambda}), c(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta^{\lambda})$. Throughout this paper, we assume that $\lambda = (\lambda_k)_{k=1}^{\infty}$ is a strictly increasing sequence of positive reals, that is $0 < \lambda_1 < \lambda_2 < \cdots$. Then, for any $x \in w$; we define the sequence $\Lambda(x) = (\Lambda_n(x))_{n=1}^{\infty}$ by

$$\Lambda_n(x) = \frac{1}{\lambda_n} \sum_{k=1}^n (\lambda_k - \lambda_{k-1}) x_k; \qquad (n \ge 1).$$

$$(2.1)$$

In [10] and [12], the λ - sequence spaces have been introduced by Mursaleen and Noman as follows:

$$c_0^{\lambda} = \left\{ x \in w : \Lambda(x) \in c_0 \right\}, \quad c^{\lambda} = \left\{ x \in w : \Lambda(x) \in c \right\} \quad \text{and} \quad \ell_{\infty}^{\lambda} = \left\{ x \in w : \Lambda(x) \in \ell_{\infty} \right\}.$$

Also, the difference λ -sequence spaces $c_0^{\lambda}\left(\Delta\right)$, $c^{\lambda}\left(\Delta\right)$ and $\ell_{\infty}^{\lambda}\left(\Delta\right)$ have been studied in [11] as follows:

$$c_0^{\lambda}\left(\Delta\right) = \left(c_0^{\lambda}\right)_{\Delta}, \quad c^{\lambda}\left(\Delta\right) = \left(c^{\lambda}\right)_{\Delta} \quad \text{and} \quad \ell_{\infty}^{\lambda}\left(\Delta\right) = \left(\ell_{\infty}^{\lambda}\right)_{\Delta}.$$

Now, we will go away from the technique used in [11] and introduce the λ -difference sequence spaces, which is our contribution in this paper, as follows:

$$c_0(\Delta^{\lambda}) = \{x \in w : \Lambda(x) \in c_0(\Delta)\},$$

$$c(\Delta^{\lambda}) = \{x \in w : \Lambda(x) \in c(\Delta)\},$$

$$\ell_{\infty}(\Delta^{\lambda}) = \{x \in w : \Lambda(x) \in \ell_{\infty}(\Delta)\}.$$

Besides, we define the triangle $\tilde{\Lambda} = [\tilde{\lambda}_{nk}]$ for all $n, k \geq 1$ by

$$\tilde{\lambda}_{nk} = \begin{cases} \tilde{\lambda}_n - \lambda_{n-1} \\ \tilde{\lambda}_n \end{cases}; & (n = k), \\ \tilde{\lambda}_n = \begin{cases} \tilde{\lambda}_n - \lambda_{n-1} \\ \tilde{\lambda}_n - \frac{1}{\lambda_{n-1}} \end{cases}; & (n > k), \\ 0; & (n < k). \end{cases}$$

Then, for any sequence $x \in w$, it can be easily shown that

$$\tilde{\Lambda}_n(x) = \Lambda_n(x) - \Lambda_{n-1}(x) \qquad (n \ge 1)$$

and so $\tilde{\Lambda}(x) = (\Lambda_n(x) - \Lambda_{n-1}(x))_{n=1}^{\infty}$. Thus, the spaces $c_0(\Delta^{\lambda}), c(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta^{\lambda})$ can be defined as the matrix domains of the triangle $\tilde{\Lambda}$ in the spaces c_0 , c and ℓ_{∞} , respectively. That is

$$c_0(\Delta^{\lambda}) = (c_0)_{\tilde{\Lambda}}, \quad c(\Delta^{\lambda}) = (c)_{\tilde{\Lambda}} \text{ and } \ell_{\infty}(\Delta^{\lambda}) = (\ell_{\infty})_{\tilde{\Lambda}}$$
 (2.2)

which means that

$$c_0\left(\Delta^{\lambda}\right) = \left\{x \in w : \lim_{n \to \infty} \tilde{\Lambda}_n(x) = 0\right\},$$

$$c\left(\Delta^{\lambda}\right) = \left\{x \in w : \lim_{n \to \infty} \tilde{\Lambda}_n(x) \text{ exists}\right\},$$

$$\ell_{\infty}\left(\Delta^{\lambda}\right) = \left\{x \in w : \sup_{n} \left|\tilde{\Lambda}_n(x)\right| < \infty\right\}.$$

It follows that our spaces are sequence spaces of difference type, and we can prove the following results:

Lemma 2.1 The λ -difference sequence spaces $c_0(\Delta^{\lambda})$, $c(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta^{\lambda})$ are BK-spaces with the norm $\|\cdot\|_{\lambda}$ defined by

$$||x||_{\lambda} = ||\tilde{\Lambda}(x)||_{\infty} = \sup_{n} |\tilde{\Lambda}_{n}(x)| = \sup_{n} |\Lambda_{n}(x) - \Lambda_{n-1}(x)|.$$

Proof. Since c_0 , c and ℓ_{∞} are BK-spaces with respect to their natural norm (see [7]) and the matrix $\tilde{\Lambda}$ is a triangle; from (2.2) we deduce the fact that $c_0(\Delta^{\lambda})$, $c(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta^{\lambda})$ are BK-spaces with the given norm which is obtained by the famous result of Wilansky [18].

Theorem 2.2 The λ -difference sequence spaces $c_0(\Delta^{\lambda})$, $c(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta^{\lambda})$ are isometrically linear-isomorphic to the spaces c_0 , c and ℓ_{∞} , respectively. That is

$$c_0(\Delta^{\lambda}) \cong c_0$$
, $c(\Delta^{\lambda}) \cong c$ and $\ell_{\infty}(\Delta^{\lambda}) \cong \ell_{\infty}$.

Proof. To show that $c_0(\Delta^{\lambda}) \cong c_0$, we will prove the existence of a linear operator between $c_0(\Delta^{\lambda})$ and c_0 which is bijective and norm-preserving. For, we define the mapping $\tilde{\Lambda}: c_0(\Delta^{\lambda}) \to c_0$ by $x \mapsto \tilde{\Lambda}(x)$ for all $x \in c_0(\Delta^{\lambda})$. Then, this mapping is clearly a linear operator which is well-defined. Also, it is easy to see that $\tilde{\Lambda}(x) = 0$ implies x = 0 which means that $\tilde{\Lambda}$ is injective. Further, to show that $\tilde{\Lambda}$ is surjective, let $y \in c_0$ and define the sequence $x = (x_k)$ by

$$x_k = \frac{1}{\lambda_k - \lambda_{k-1}} \left(\lambda_k \sum_{i=1}^k y_i - \lambda_{k-1} \sum_{i=1}^{k-1} y_i \right); \qquad (k \ge 1),$$

where $x_1 = y_1$ (since $\lambda_0 = 0$). Then, for every $n \ge 1$, we have

$$\Lambda_n(x) = \frac{1}{\lambda_n} \sum_{k=1}^n (\lambda_k - \lambda_{k-1}) x_k = \frac{1}{\lambda_n} \sum_{k=1}^n \left(\lambda_k \sum_{i=1}^k y_i - \lambda_{k-1} \sum_{i=1}^{k-1} y_i \right) = \sum_{i=1}^n y_i$$

which implies that $\tilde{\Lambda}_n(x) = \Lambda_n(x) - \Lambda_{n-1}(x) = \sum_{i=1}^n y_i - \sum_{i=1}^{n-1} y_i = y_n$ for every $n \geq 1$ and this means $\tilde{\Lambda}(x) = y \in c_0$ and so $x \in c_0(\Delta^{\lambda})$ such that $\tilde{\Lambda}(x) = y$. This shows that $\tilde{\Lambda}$ is surjective and hence $\tilde{\Lambda}$ is a linear isomorphism. Finally, for any $x \in c_0(\Delta^{\lambda})$, we have by Lemma 2.1 that $\|x\|_{\lambda} = \|\tilde{\Lambda}(x)\|_{\infty}$ which means that $\tilde{\Lambda}$ is norm-preserving, and so $\tilde{\Lambda}$ is a linear bijection which preserves the norm. Hence, we deduce that $c_0(\Delta^{\lambda}) \cong c_0$. Similarly, we can show that $c_0(\Delta^{\lambda}) \cong c_0$ and $c_0(\Delta^{\lambda}) \cong c_0(\Delta^{\lambda}) \cong c_0(\Delta^{\lambda})$.

Corollary 2.3 The λ -difference sequence spaces $c_0(\Delta^{\lambda})$, $c(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta^{\lambda})$ are isometrically linear-isomorphic to the spaces $c_0(\Delta)$, $c(\Delta)$ and $\ell_{\infty}(\Delta)$, respectively. That is

$$c_0(\Delta^{\lambda}) \cong c_0(\Delta)$$
, $c(\Delta^{\lambda}) \cong c(\Delta)$ and $\ell_{\infty}(\Delta^{\lambda}) \cong \ell_{\infty}(\Delta)$.

Remark 2.4 The matrix operator $\tilde{\Lambda}$ defined on any of the spaces $c_0(\Delta^{\lambda})$, $c(\Delta^{\lambda})$ or $\ell_{\infty}(\Delta^{\lambda})$ into the corresponding space of c_0 , c or ℓ_{∞} (respectively) is an isometry linear isomorphism as we have already shown in the proof of Theorem 2.2, and this implies the continuity of the matrix operator $\tilde{\Lambda}$.

At the end of this section, we give an example to show that our new λ -difference spaces of sequences are totally different from the classical sequence spaces and from the well-known λ -sequence spaces. For simplicity in notations, we will use the symbole μ to denote any of the spaces c_0 , c or ℓ_{∞} , and so $\mu(\Delta^{\lambda})$ is the respective one of the spaces $c_0(\Delta^{\lambda})$, $c(\Delta^{\lambda})$ or $\ell_{\infty}(\Delta^{\lambda})$.

Example 2.5 In this example, our aim is to show that the space $\mu(\Delta^{\lambda})$ is different from all the sequence spaces μ , $\mu(\Delta)$, μ^{λ} and $\mu^{\lambda}(\Delta)$. For this, consider the sequence $\lambda = (\lambda_k)$ defined by $\lambda_k = (2^k - 1)/2^k$ for all $k \ge 1$ which is a strictly increasing sequence of positive reals. Then $\Delta(\lambda_k) = 1/2^{2k-1}$ $(k \ge 1)$ and for any sequence $x \in w$ we have $\tilde{\Lambda}_n(x) = \Lambda_n(x) - \Lambda_{n-1}(x)$ for all $n \ge 1$, where

$$\Lambda_n(x) = \frac{2^n}{2^n - 1} \sum_{k=1}^n \frac{x_k}{2^{2k-1}}; \quad (n \ge 1).$$

Now, consider the unbounded sequence $x = (x_k)$ given by $x_k = 2^{2k-1}(\sqrt{k} - \sqrt{k-1})$ for all $k \ge 1$. Then, it can easily be show that $\Lambda_n(x) = \sqrt{n}(1 + 1/(2^n - 1))$ for all n, and so we obtain that

$$\tilde{\Lambda}_n(x) = \sqrt{n} - \sqrt{n-1} + \frac{\sqrt{n}}{2^n - 1} - \frac{\sqrt{n-1}}{2^{n-1} - 1}; \qquad (n > 1)$$

which shows that $\tilde{\Lambda}(x) \in c_0$. Thus $x \in c_0(\Delta^{\lambda})$ and hence $x \in \mu(\Delta^{\lambda})$ (since $c_0(\Delta^{\lambda}) \subset c(\Delta^{\lambda}) \subset \ell_{\infty}(\Delta^{\lambda})$). On other side, it is clear that $x \notin \ell_{\infty}$ and so $x \notin \mu$. Thus, we have $x \in \mu(\Delta^{\lambda})$ while $x \notin \mu$. Consequently, it follows that $\mu(\Delta^{\lambda}) \neq \mu$. Also, we note that $\Lambda(x) \notin \ell_{\infty}$ and hence $x \notin \ell_{\infty}^{\lambda}$ which means that $x \notin \mu^{\lambda}$ and so $\mu(\Delta^{\lambda}) \neq \mu^{\lambda}$. Further, for every $k \geq 1$, we have $\sqrt{k} + \sqrt{k-1} \geq (\sqrt{k+1} + \sqrt{k})/2$ and hence $\sqrt{k} - \sqrt{k-1} \leq 2(\sqrt{k+1} - \sqrt{k})$. Thus, it follows that $\Delta(x_{k+1}) \geq 2^{2k}(\sqrt{k+1} - \sqrt{k})$ which implies that $\Delta(x_k) \geq x_k/2 \to \infty$ (as $k \to \infty$) and so $\Lambda_n(\Delta(x)) \geq \Lambda_n(x)/2 \to \infty$ (as $n \to \infty$). Hence, we deduce that $x \notin \ell_{\infty}(\Delta)$ as well as $x \notin \ell_{\infty}^{\lambda}(\Delta)$ and so $x \notin \mu(\Delta)$ as well as $x \notin \mu^{\lambda}(\Delta)$, which means that $\mu(\Delta^{\lambda}) \neq \mu(\Delta)$ and $\mu(\Delta^{\lambda}) \neq \mu^{\lambda}(\Delta)$. Therefore, the space $\mu(\Delta^{\lambda})$ is different from all the sequence spaces μ , $\mu(\Delta)$, μ^{λ} and $\mu^{\lambda}(\Delta)$.

3 Some inclusion relations

In this section, we derive some interesting inclusion relations between our new λ -difference sequence spaces and the classical sequence spaces (specially, the difference types $c_0(\Delta)$, $c(\Delta)$ and $\ell_{\infty}(\Delta)$).

Lemma 3.1 The inclusions $c_0(\Delta^{\lambda}) \subset c(\Delta^{\lambda}) \subset \ell_{\infty}(\Delta^{\lambda})$ strictly hold.

Proof. These inclusions are immediate from the inclusions $c_0 \subset c \subset \ell_{\infty}$. To show that these inclusions are strictly, we consider the two sequences x and y defined by

$$x_k = \frac{k\lambda_k - (k-1)\lambda_{k-1}}{\lambda_k - \lambda_{k-1}} , \qquad y_k = \frac{(-1)^k}{2} \left(\frac{\lambda_k + \lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right) \qquad (k \ge 1).$$

Then, for any $n \geq 1$, it can be easily seen that

$$\Lambda_n(x) = \frac{1}{\lambda_n} \sum_{k=1}^n (k\lambda_k - (k-1)\lambda_{k-1}) = n, \qquad \Lambda_n(y) = \frac{1}{2\lambda_n} \sum_{k=1}^n (-1)^k (\lambda_k + \lambda_{k-1}) = \frac{(-1)^n}{2}$$

and so $\tilde{\Lambda}_n(x) = \Lambda_n(x) - \Lambda_{n-1}(x) = 1$ and $\tilde{\Lambda}_n(y) = \Lambda_n(y) - \Lambda_{n-1}(y) = (-1)^n$ which imply that $\tilde{\Lambda}_n(x) = e \in c \setminus c_0$ and $\tilde{\Lambda}_n(y) \in \ell_\infty \setminus c$ which maen that $x \in c(\Delta^\lambda) \setminus c_0(\Delta^\lambda)$ and $y \in \ell_\infty(\Delta^\lambda) \setminus c_0(\Delta^\lambda)$. This completes the proof.

Lemma 3.2 The inclusion $c^{\lambda} \subset c_0(\Delta^{\lambda})$ strictly holds.

Proof. For any $x \in c^{\lambda}$, we have $\Lambda(x) \in c$ and so $\tilde{\Lambda}(x) = (\Lambda_n(x) - \Lambda_{n-1}(x)) \in c_0$ which means that $x \in c_0(\Delta^{\lambda})$ and hence $c^{\lambda} \subset c_0(\Delta^{\lambda})$. Also, to show that this inclusion is strict, define the sequence $x = (x_k)$ by $x_k = (\lambda_k \sqrt{k} - \lambda_{k-1} \sqrt{k-1})/(\lambda_k - \lambda_{k-1})$ for $k \ge 1$. Then $\Lambda_n(x) = \sqrt{n}$ and so $\Lambda(x) = (\sqrt{n}) \notin c$ which means $x \notin c^{\lambda}$, but $\tilde{\Lambda}(x) = (\sqrt{n} - \sqrt{n-1}) \in c_0$ which shows that $x \in c_0(\Delta^{\lambda}) \setminus c^{\lambda}$.

Corollary 3.3 The spaces c_0 , c and c_0^{λ} are strictly included in $c_0(\Delta^{\lambda})$.

Corollary 3.4 The inclusions $c_0^{\lambda} \subset c_0(\Delta^{\lambda})$, $c^{\lambda} \subset c(\Delta^{\lambda})$ and $\ell_{\infty}^{\lambda} \subset \ell_{\infty}(\Delta^{\lambda})$ strictly hold.

Remark 3.5 The spaces ℓ_{∞} and $c_0(\Delta^{\lambda})$ overlap, but ℓ_{∞} cannot include $c_0(\Delta^{\lambda})$. To see that, we have $c \subset \ell_{\infty} \cap c_0(\Delta^{\lambda})$, and the sequence x in the proof of Lemma 3.2 is unbounded, since $x_k \geq \sqrt{k}$ for all $k \geq 1$, which means that $x \in c_0(\Delta^{\lambda}) \setminus \ell_{\infty}$.

Theorem 3.6 The inclusion $\ell_{\infty} \subset c_0(\Delta^{\lambda})$ strictly holds if and only if $\lim_{n\to\infty} \lambda_{n-1}/\lambda_n = 1$.

Proof. It is clear that $\ell_{\infty} \subset c_0(\Delta^{\lambda})$ if and only if $\tilde{\Lambda} \in (\ell_{\infty}, c_0)$ which is equivalent to the condition $\lim_{n\to\infty} \sum_{k=1}^{\infty} |\tilde{\lambda}_{nk}| = 0$ [16]. On other hand, for any n > 1, we have

$$\sum_{k=1}^{\infty} \left| \tilde{\lambda}_{nk} \right| = \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_n} \right) \sum_{k=1}^{n-1} (\lambda_k - \lambda_{k-1}) + \frac{\lambda_n - \lambda_{n-1}}{\lambda_n} = 2 \left(\frac{\lambda_n - \lambda_{n-1}}{\lambda_n} \right) = 2 \left(1 - \frac{\lambda_{n-1}}{\lambda_n} \right).$$

Thus, we find that $\lim_{n\to\infty} \sum_{k=1}^{\infty} |\tilde{\lambda}_{nk}| = 0$ if and only if $\lim_{n\to\infty} \lambda_{n-1}/\lambda_n = 1$. This proves that $\ell_{\infty} \subset c_0(\Delta^{\lambda})$ if and only if $\lim_{n\to\infty} \lambda_{n-1}/\lambda_n = 1$. Also, this inclusion is strict because the equality cannot be satisfied by Remark 3.5.

Now, in the following results, we will discuss the inclusions $c_0(\Delta) \subset c_0(\Delta^{\lambda})$, $c(\Delta) \subset c(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta) \subset \ell_{\infty}(\Delta^{\lambda})$, and for this we need the following Lemmas:

Lemma 3.7 For any sequence $x \in w$, we have

$$\tilde{\Lambda}_n(x) = \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_n}\right) \sum_{k=2}^n \lambda_{k-1} \Delta(x_k) \qquad (n \ge 2) . \tag{3.1}$$

Proof. Let $x \in w$. Then, for any $n \geq 2$, we have

$$\tilde{\Lambda}_{n}(x) = \Lambda_{n}(x) - \Lambda_{n-1}(x) = \frac{1}{\lambda_{n}} \sum_{k=1}^{n} (\lambda_{k} - \lambda_{k-1}) x_{k} - \frac{1}{\lambda_{n-1}} \sum_{k=1}^{n-1} (\lambda_{k} - \lambda_{k-1}) x_{k}$$

and so we find that

$$\tilde{\Lambda}_{n}(x) = \frac{1}{\lambda_{n}} \sum_{k=1}^{n} (\lambda_{k} - \lambda_{k-1}) x_{k} - \frac{1}{\lambda_{n-1}} \sum_{k=1}^{n} (\lambda_{k} - \lambda_{k-1}) x_{k} + \left(\frac{\lambda_{n} - \lambda_{n-1}}{\lambda_{n-1}}\right) x_{n}$$

$$= \left(\frac{\lambda_{n} - \lambda_{n-1}}{\lambda_{n-1}}\right) x_{n} - \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_{n}}\right) \sum_{k=1}^{n} (\lambda_{k} - \lambda_{k-1}) x_{k}$$

$$= \left(\frac{\lambda_{n} - \lambda_{n-1}}{\lambda_{n} \lambda_{n-1}}\right) \sum_{k=1}^{n} (\lambda_{k} x_{k} - \lambda_{k-1} x_{k-1}) - \left(\frac{\lambda_{n} - \lambda_{n-1}}{\lambda_{n} \lambda_{n-1}}\right) \sum_{k=1}^{n} (\lambda_{k} - \lambda_{k-1}) x_{k}$$

$$= \left(\frac{\lambda_{n} - \lambda_{n-1}}{\lambda_{n} \lambda_{n-1}}\right) \sum_{k=1}^{n} \lambda_{k-1} (x_{k} - x_{k-1})$$

$$= \left(\frac{\lambda_{n} - \lambda_{n-1}}{\lambda_{n} \lambda_{n-1}}\right) \sum_{k=2}^{n} \lambda_{k-1} \Delta(x_{k})$$

$$= \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_{n}}\right) \sum_{k=2}^{n} \lambda_{k-1} \Delta(x_{k}).$$

Remark 3.8 The two sequences $(k)_{k=1}^{\infty}$ and $(\lambda_k/(\lambda_k - \lambda_{k-1}))_{k=1}^{\infty}$ will be used, and we have the following equalities:

$$(1) \frac{\lambda_{k}}{\lambda_{k} - \lambda_{k-1}} = 1 + \frac{\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}} \qquad (k \ge 1),$$

$$(2) \Delta \left(\frac{\lambda_{k}}{\lambda_{k} - \lambda_{k-1}}\right) = \Delta \left(\frac{\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}}\right) \qquad (k \ge 2),$$

$$(3) \tilde{\Lambda}_{n} \left(\frac{\lambda_{k}}{\lambda_{k} - \lambda_{k-1}}\right) = \tilde{\Lambda}_{n} \left(\frac{\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}}\right) \qquad (n \ge 2),$$

$$(4) \tilde{\Lambda}_{n} (k) = \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_{n}}\right) \sum_{k=2}^{n} \lambda_{k-1} \qquad (n \ge 2),$$

$$(5) \tilde{\Lambda}_{n} \left(\frac{\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}}\right) = \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_{n}}\right) \sum_{k=2}^{n} \lambda_{k-1} \Delta \left(\frac{\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}}\right) \qquad (n \ge 2).$$

Lemma 3.9 We have the following:

$$(1) \quad \tilde{\Lambda}_{n}(k) + \tilde{\Lambda}_{n}\left(\frac{\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}}\right) = 1 \qquad (n \ge 1),$$

$$(2) \quad \lambda_{k-1} \Delta\left(\frac{\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}}\right) \le \Delta\left(\frac{\lambda_{k}\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}}\right) \qquad (k \ge 2),$$

$$(3) \quad \left|\tilde{\Lambda}_{n}\left(\frac{\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}}\right)\right| \le 1 \qquad \tilde{,} \qquad (n \ge 1),$$

$$(4) \quad 0 < \tilde{\Lambda}_{n}(k) < 2 \qquad (n > 1).$$

Proof. For (1), we have

$$\tilde{\Lambda}_{n}\left(k\right)+\tilde{\Lambda}_{n}\left(\frac{\lambda_{k-1}}{\lambda_{k}-\lambda_{k-1}}\right)=\ \tilde{\Lambda}_{n}\left(k+\frac{\lambda_{k-1}}{\lambda_{k}-\lambda_{k-1}}\right)=\ \tilde{\Lambda}_{n}\left(\frac{k\lambda_{k}-\left(k-1\right)\lambda_{k-1}}{\lambda_{k}-\lambda_{k-1}}\right)=1$$

as we have seen in Lemma 3.1. For (2), it is obvious, for any $k \geq 2$, that

$$\Delta \left(\frac{\lambda_k \lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right) = \lambda_{k-1} \left(\frac{\lambda_k}{\lambda_k - \lambda_{k-1}} - \frac{\lambda_{k-2}}{\lambda_{k-1} - \lambda_{k-2}} \right) = \lambda_{k-1} \left[1 + \Delta \left(\frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right) \right]$$

and we have done by noting that

$$\lambda_{k-1} \left[1 + \Delta \left(\frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right) \right] \ge \lambda_{k-1} \Delta \left(\frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right).$$

To prove (3), we use (5) of Remark 3.8. Then, for any $n \geq 2$, we have

$$\left| \tilde{\Lambda}_n \left(\frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right) \right| = \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_n} \right) \left| \sum_{k=2}^n \lambda_{k-1} \Delta \left(\frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right) \right|$$

$$\leq \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_n} \right) \left| \sum_{k=2}^n \Delta \left(\frac{\lambda_k \lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right) \right|$$

$$= \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_n} \right) \left(\frac{\lambda_n \lambda_{n-1}}{\lambda_n - \lambda_{n-1}} \right).$$

Finally, for (4) we find form (4) of Remark 3.8 that $\tilde{\Lambda}_n(k) \geq 0$ and so the result follows by (3), where

$$\tilde{\Lambda}_{n}\left(k\right) = \left|\tilde{\Lambda}_{n}\left(k\right)\right| = \left|1 - \tilde{\Lambda}_{n}\left(\frac{\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}}\right)\right| \leq 1 + \left|\tilde{\Lambda}_{n}\left(\frac{\lambda_{k-1}}{\lambda_{k} - \lambda_{k-1}}\right)\right|.$$

Now, lets define the triangle A as follows:

$$A = \begin{bmatrix} 1 & 0 & 0 & \cdots \\ 0 & \lambda_1 \left(\frac{1}{\lambda_1} - \frac{1}{\lambda_2}\right) & 0 & \cdots \\ 0 & \lambda_1 \left(\frac{1}{\lambda_2} - \frac{1}{\lambda_3}\right) & \lambda_2 \left(\frac{1}{\lambda_2} - \frac{1}{\lambda_3}\right) & \cdots \\ \vdots & \vdots & \vdots & \vdots & \end{bmatrix}$$

Then, it follows by Lemma 3.7 that $\tilde{\Lambda}_n(x) = A_n(\Delta x)$ for all $n \ge 1$ and so $\tilde{\Lambda}_n(x) = A(\Delta x)$ for every $x \in w$. Also, it is clear that

$$\lim_{n \to \infty} a_{nk} = \lambda_{k-1} \lim_{n \to \infty} \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_n} \right) = 0 \qquad (k \ge 2),$$

$$\sum_{k=1}^{\infty} |a_{nk}| = \sum_{k=1}^{\infty} a_{nk} = \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_n}\right) \sum_{k=2}^{n} \lambda_{k-1} \qquad (n \ge 2).$$

Thus, we have $\lim_{n\to\infty} a_{nk} = 0$ for each $k \ge 1$ and $\sum_{k=1}^{\infty} |a_{nk}| = \sum_{k=1}^{\infty} a_{nk} = \tilde{\Lambda}_n(k)$ for all $n \ge 1$. Hence, by combining these facts with the results of [16] that

$$A \in (\ell_{\infty}, \ \ell_{\infty}) \iff A \in (c_0, \ c_0) \iff \sup_{n} \tilde{\Lambda}_n(k) < \infty \iff \tilde{\Lambda}_n(k) \in \ell_{\infty},$$
 (3.2)

$$A \in (c, c) \Leftrightarrow \lim_{n \to \infty} \tilde{\Lambda}_n(k) \text{ exists } \Leftrightarrow \tilde{\Lambda}_n(k) \in c.$$
 (3.3)

Theorem 3.10 We have the following:

- (1) The inclusions $c_0(\Delta) \subset c_0(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta) \subset \ell_{\infty}(\Delta^{\lambda})$ always hold.
- (2) The inclusion $c(\Delta) \subset c(\Delta^{\lambda})$ holds if and only if $\tilde{\Lambda}(\lambda_k/(\lambda_k \lambda_{k-1})) \in c$.
- (3) $\lim_{n\to\infty} \tilde{\Lambda}_n(x) = \lim_{n\to\infty} \Delta(x_n)$ for every $x \in c(\Delta)$ if and only if $\tilde{\Lambda}(\lambda_k/(\lambda_k \lambda_{k-1})) \in c_0$.

Proof. For (1), we have $x \in c_0(\Delta)$ if and only if $\Delta x \in c_0$. Thus, we obtain from the fact $\tilde{\Lambda}(x) = A(\Delta x)$ for all $x \in w$ that:

$$c_{0}(\Delta) \subset c_{0}(\Delta^{\lambda}) \Leftrightarrow \tilde{\Lambda}(x) \in c_{0} \qquad \forall x \in c_{0}(\Delta)$$

$$\Leftrightarrow A(\Delta x) \in c_{0} \qquad \forall \Delta(x) \in c_{0}$$

$$\Leftrightarrow A(y) \in c_{0} \qquad \forall y \in c_{0}$$

$$\Leftrightarrow A \in (c_{0}, c_{0}).$$

Similarly, we can show that $\ell_{\infty}(\Delta) \subset \ell_{\infty}(\Delta^{\lambda}) \Leftrightarrow A \in (\ell_{\infty}, \ell_{\infty})$. Thus, it follows from (3.2) that

$$c_0(\Delta) \subset c_0(\Delta^{\lambda}) \Leftrightarrow \ell_{\infty}(\Delta) \subset \ell_{\infty}(\Delta^{\lambda}) \Leftrightarrow \tilde{\Lambda}_n(k) \in \ell_{\infty}.$$

But the condition $\tilde{\Lambda}(k) \in \ell_{\infty}$ is always satisfied by (4) of Lemma 3.9. Therefore, the inclusions $c_0(\Delta) \subset c_0(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta) \subset \ell_{\infty}(\Delta^{\lambda})$ always hold.

To prove (2), we can use the same technique to show that $c(\Delta) \subset c(\Delta^{\lambda}) \Leftrightarrow A \in (c, c) \Leftrightarrow \tilde{\Lambda}(k) \in c$ which can be obtained with help of (3.3). Thus, by using (1) of Lemma 3.9, we deduce the equivalence $c(\Delta) \subset c(\Delta^{\lambda}) \Leftrightarrow \tilde{\Lambda}(\lambda_k/(\lambda_k - \lambda_{k-1})) \in c$. Finally, to prove (3), let $x \in c(\Delta)$ with $\Delta(x_k) \to L$ as $k \to \infty$. Then $(x_k - Lk) \in c_0(\Delta) \subset c_0(\Delta^{\lambda})$. Also, since $\tilde{\Lambda}_n(x) = \tilde{\Lambda}_n(x_k - Lk) + L\tilde{\Lambda}_n(k)$; we find by passing to the limits when $n \to \infty$ that

$$\lim_{n \to \infty} \tilde{\Lambda}_n(x) = L \lim_{n \to \infty} \tilde{\Lambda}_n(k) = L - L \lim_{n \to \infty} \tilde{\Lambda}_n \left(\frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right).$$

Thus, the regular case $\lim_{n\to\infty} \tilde{\Lambda}_n(x) = \lim_{n\to\infty} \Delta(x_n)$ holds for every $x \in c(\Delta)$ if and only if $\tilde{\Lambda}(\lambda_k/(\lambda_k-\lambda_{k-1})) \in c_0$, or equivalently $\lim_{n\to\infty} \tilde{\Lambda}_n(k) = 1$ (note that: $(\lambda_k/(\lambda_k-\lambda_{k-1})) \in c_0(\Delta)$ implies $\tilde{\Lambda}(\lambda_k/(\lambda_k-\lambda_{k-1})) \in c_0$ but not the converse).

Remark 3.11 We may note, by Theorem 3.10 and its proof, that the inclusion $c(\Delta) \subset c(\Delta^{\lambda})$ implies both inclusions $c_0(\Delta) \subset c_0(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta) \subset \ell_{\infty}(\Delta^{\lambda})$, and the inclusion $c(\Delta) \subset c(\Delta^{\lambda})$ holds if and only if $\tilde{\Lambda}(k) \in c$, and this condition can be written by (4) of Remark 3.8 as follows:

$$\lim_{n \to \infty} \left(\frac{\lambda_n - \lambda_{n-1}}{\lambda_n \lambda_{n-1}} \right) \sum_{k=2}^n \lambda_{k-1} \text{ exists.}$$

Similarly, by using the same idea, we can show that the inclusion $c_0(\Delta^{\lambda}) \subset c_0(\Delta)$ holds if and only if the inclusion $\ell_{\infty}(\Delta^{\lambda}) \subset \ell_{\infty}(\Delta)$ holds, and the inclusion $c(\Delta^{\lambda}) \subset c(\Delta)$ implies both inclusions $c_0(\Delta^{\lambda}) \subset c_0(\Delta)$ and $\ell_{\infty}(\Delta^{\lambda}) \subset \ell_{\infty}(\Delta)$, and these inclusions cannot be strict.

Now, for any sequence $x \in w$, we have the following equality (see [12, Lemma 4.1])

$$\Delta(x_n) - \tilde{\Lambda}_n(x) = \Delta\left(\frac{\lambda_{n-1}}{\lambda_n - \lambda_{n-1}}\tilde{\Lambda}_n(x)\right) \qquad (n \ge 2).$$

Also, by using (2.1) and (3.1), we find for any $n \geq 2$ that

$$\Lambda_n\left(\frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}}\Delta\left(x_k\right)\right) = \frac{1}{\lambda_n} \sum_{k=1}^n \lambda_{k-1}\Delta\left(x_k\right) = \frac{1}{\lambda_n} \sum_{k=2}^n \lambda_{k-1}\Delta\left(x_k\right) = \frac{\lambda_{n-1}}{\lambda_n - \lambda_{n-1}} \tilde{\Lambda}_n(x)$$

and by operating Δ on both sides and combining the last two equations, we deduce the following equalities for any $x \in w$:

$$\Delta(x_n) - \tilde{\Lambda}_n(x) = \Delta\left(\frac{\lambda_{n-1}}{\lambda_n - \lambda_{n-1}} \tilde{\Lambda}_n(x)\right) = \tilde{\Lambda}_n\left(\frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \Delta\left(x_k\right)\right) \qquad (n \ge 2). \tag{3.4}$$

Theorem 3.12 We have the following:

- (1) The equalities $c_0(\Delta^{\lambda}) = c_0(\Delta)$ and $\ell_{\infty}(\Delta^{\lambda}) = \ell_{\infty}(\Delta)$ hold if and only if $(\lambda_k/(\lambda_k \lambda_{k-1})) \in \ell_{\infty}$.
- (2) The equality $c(\Delta^{\lambda}) = c(\Delta)$ holds if and only if $(\lambda_k/(\lambda_k \lambda_{k-1})) \in \ell_{\infty} \cap c_0(\Delta)$.

Proof. For (1), if $(\lambda_k/(\lambda_k - \lambda_{k-1})) \in \ell_\infty$ and so $(\lambda_{k-1}/(\lambda_k - \lambda_{k-1})) \in \ell_\infty$ by (1) of Remark 3.8; then from (3.4) we find that $x \in c_0(\Delta) \Leftrightarrow x \in c_0(\Delta^{\lambda})$, as well as $x \in \ell_\infty(\Delta) \Leftrightarrow x \in \ell_\infty(\Delta^{\lambda})$, and hence the two equalities in (1) hold. Conversely, if $\ell_\infty(\Delta^{\lambda}) = \ell_\infty(\Delta)$, or equivalently $c_0(\Delta^{\lambda}) = c_0(\Delta)$; then it follows from the proof of Lemma 3.1 that $y \in \ell_\infty(\Delta^{\lambda})$ and so $y \in \ell_\infty(\Delta)$, where

$$y_k = \frac{(-1)^k}{2} \left(\frac{\lambda_k + \lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right) \qquad (k \ge 1).$$

Thus, we have $\Delta y \in \ell_{\infty}$. But, for any $k \geq 2$ we also have

$$|\Delta(y_k)| = \frac{1}{2} \left(\frac{\lambda_k + \lambda_{k-1}}{\lambda_k - \lambda_{k-1}} + \frac{\lambda_{k-1} + \lambda_{k-2}}{\lambda_{k-1} - \lambda_{k-2}} \right) \ge \frac{1}{2} \left(\frac{\lambda_k + \lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \right) \ge \frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}}$$

which implies that $(\lambda_{k-1}/(\lambda_k - \lambda_{k-1})) \in \ell_{\infty}$ and so $(\lambda_k/(\lambda_k - \lambda_{k-1})) \in \ell_{\infty}$. To prove (2), suppose that $(\lambda_k/(\lambda_k - \lambda_{k-1})) \in \ell_{\infty} \cap c_0(\Delta)$ or equivalently $(\lambda_{k-1}/(\lambda_k - \lambda_{k-1})) \in \ell_{\infty} \cap c_0(\Delta)$. Then, it follows from (3.4) that $x \in c(\Delta^{\lambda}) \Leftrightarrow x \in c(\Delta)$, because of $\lim_{n \to \infty} \tilde{\Lambda}_n(x) = \lim_{n \to \infty} \Delta(x_n)$ for every x in $c(\Delta^{\lambda})$ or in $c(\Delta)$. To see that, we have

$$\Delta\left(\frac{\lambda_{n-1}}{\lambda_n - \lambda_{n-1}}\tilde{\Lambda}_n(x)\right) = \frac{\lambda_{n-1}}{\lambda_n - \lambda_{n-1}}\Delta\left(\tilde{\Lambda}_n(x)\right) + \tilde{\Lambda}_{n-1}(x)\Delta\left(\frac{\lambda_{n-1}}{\lambda_n - \lambda_{n-1}}\right) \longrightarrow 0 \text{ as } n \to \infty,$$

$$\Delta\left(\frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}}\Delta\left(x_k\right)\right) = \frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}}\Delta\left(\Delta\left(x_k\right)\right) + \Delta\left(x_{k-1}\right)\Delta\left(\frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}}\right) \longrightarrow 0 \text{ as } k \to \infty.$$

Conversely, suppose that $c\left(\Delta^{\lambda}\right) = c\left(\Delta\right)$. Then, we must have $\ell_{\infty}\left(\Delta^{\lambda}\right) = \ell_{\infty}\left(\Delta\right)$ and therefore $(\lambda_{k}/(\lambda_{k}-\lambda_{k-1})) \in \ell_{\infty}$. Also, in the proof of Lemma 3.1, we have $x \in c(\Delta^{\lambda})$ and so $x \in c(\Delta)$, where

$$x_k = k + \frac{\lambda_{k-1}}{\lambda_k - \lambda_{k-1}} \qquad (k \ge 1)$$

such that $\lim_{k\to\infty} \Delta(x_k) = \lim_{k\to\infty} \tilde{\Lambda}_k(x) = 1$. But $\Delta(x_k) = 1 + \Delta(\lambda_{k-1}/(\lambda_k - \lambda_{k-1}))$ for all k, which implies that $\lim_{k\to\infty} \Delta(\lambda_{k-1}/(\lambda_k - \lambda_{k-1})) = 0$ and so $\lim_{k\to\infty} \Delta(\lambda_k/(\lambda_k - \lambda_{k-1})) = 0$ by (2) of Remark 3.8. Thus, we deduce that $(\lambda_k/(\lambda_k - \lambda_{k-1})) \in c_0(\Delta)$. Finally, we have already shown that $(\lambda_k/(\lambda_k - \lambda_{k-1})) \in \ell_\infty$ as well as $(\lambda_k/(\lambda_k - \lambda_{k-1})) \in c_0(\Delta)$, which together imply that $(\lambda_k/(\lambda_k - \lambda_{k-1})) \in \ell_\infty \cap c_0(\Delta)$ and this completes the proof.

Corollary 3.13 We have the following:

- (1) If $(\lambda_k/(\lambda_k-\lambda_{k-1})) \in c$; then the equality $c(\Delta^{\lambda}) = c(\Delta)$ holds.
- (2) If $\tilde{\Lambda}(k) \in c_0$; then all the spaces $c_0(\Delta), c(\Delta)$ and $\ell_{\infty}(\Delta)$ are strictly included in $c_0(\Delta^{\lambda})$.

Proof. (1) is immediate by (2) of Theorem 3.12. To prove (2), let $x \in \ell_{\infty}(\Delta)$. Then, there exists M > 0 such that $|\Delta(x_k)| \leq M$ for all k and so we obtain by (4) of Remark 3.8 that

$$\left|\tilde{\Lambda}_{n}\left(x\right)\right| \leq \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_{n}}\right) \sum_{k=2}^{n} \lambda_{k-1} \left|\Delta\left(x_{k}\right)\right| \leq M \left(\frac{1}{\lambda_{n-1}} - \frac{1}{\lambda_{n}}\right) \sum_{k=2}^{n} \lambda_{k-1} \leq M \tilde{\Lambda}_{n}\left(k\right).$$

Thus, we get $0 \leq |\tilde{\Lambda}_n(x)| \leq M \tilde{\Lambda}_n(k)$ for all n. Consequently, the result follows by going to the limits when $n \to \infty$.

At the end of this section, we give some examples of the distinct cases of above results concerning the inclusions $\mu(\Delta) \subset \mu(\Delta^{\lambda})$, where μ denotes any of the spaces c_0 , c or ℓ_{∞} . For simplicity in notations, we will use the symbole $u = \lambda/\Delta\lambda$, that is $u_k = \lambda_k/(\lambda_k - \lambda_{k-1})$ for $k \geq 1$.

Example 3.14 The cases of strict inclusions: for $c_0(\Delta) \subsetneq c_0(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta) \subsetneq \ell_{\infty}(\Delta^{\lambda})$; it is enough that $u \notin \ell_{\infty}$, but for $c(\Delta) \subsetneq c(\Delta^{\lambda})$ we must have $u \notin \ell_{\infty}$ and $\tilde{\Lambda}(u) \in c$. The last case holds when $\Delta(u) \to \infty$ or $\Delta(u) \in c$ with $u \notin \ell_{\infty}$. Thus, we have the following two cases:

I - When $\Delta(u) \in c$ and $u \notin \ell_{\infty}$: consider the sequence $\lambda = (\lambda_n)$ defined by $\lambda_n = (n+1)^a$, where $a > 0 \ (n \ge 1)$. Then, we have $u_n \to \infty$, $\Delta(u_n) \to 1/a$, $\tilde{\Lambda}_n(u) \to 1/(1+a)$ and $\tilde{\Lambda}_n(k) \to a/(1+a)$.

II - When $\Delta(u) \to \infty$: it is the strong case of strict inclusions as proved in Corollary 3.13. For example, consider the sequence $\lambda = (\lambda_n)$ given in Example 2.5 or the sequence $\lambda_n = \ln(1+n)$ for $n \ge 1$. Then, we have $u_n \to \infty$, $\Delta(u_n) \to \infty$, $\tilde{\Lambda}_n(u) \to 1$ and $\tilde{\Lambda}_n(k) \to 0$ (the main property of this case is $1/\lambda \notin \ell_p$ for every p > 0).

In these two previous cases of this example, it is obvious that:

$$\lim_{n\to\infty}\tilde{\Lambda}_n(u)=\lim_{n\to\infty}\frac{\Delta(u_n)}{1+\Delta(u_n)}\quad\text{ and }\quad \lim_{n\to\infty}\tilde{\Lambda}_n(k)=\lim_{n\to\infty}\frac{1}{1+\Delta(u_n)}\cdot$$

Example 3.15 The cases of identities: for $c_0(\Delta^{\lambda}) = c_0(\Delta)$ and $\ell_{\infty}(\Delta^{\lambda}) = \ell_{\infty}(\Delta)$; it is enough that $u \in \ell_{\infty}$, but for $c(\Delta^{\lambda}) = c(\Delta)$ we must have $u \in \ell_{\infty} \cap c_0(\Delta)$. In the first case, the equality $c(\Delta^{\lambda}) = c(\Delta)$ may fails as will be shown in the next example. Here, we will consider the the second case (the strong case of regularity). For example, let $\lambda = (\lambda_n)$ be defined by $\lambda_n = (n+1)!$ or $\lambda_n = a^n$, where a > 1 $(n \ge 1)$. In such case, we must have $u \in \ell_{\infty}$, $\Delta(u_n) \to 0$, $\tilde{\Lambda}_n(u) \to 0$ and $\tilde{\Lambda}_n(k) \to 1$.

Example 3.16 The case of non-inclusion between $c(\Delta)$ and $c(\Delta^{\lambda})$: that is $c(\Delta) \not\subset c(\Delta^{\lambda})$ and $c(\Delta^{\lambda}) \not\subset c(\Delta)$. In this case, we must have $\tilde{\Lambda}(u) \not\in c$ which means that the sequence $\tilde{\Lambda}(u)$ is oscillated (it has no unique limit). The main property of this case is not only that $\Delta(u) \not\in c$ (e.g. $\Delta(u) \to \infty$ is not the case) but the limit of $\Delta(u)$ does not exist and it must be oscillated between at least two values (it maybe oscillated through $\pm \infty$). Here also, there are two distinct cases:

I - When $u \in \ell_{\infty}$ and so it must be oscillated (in this case, the equalities $c_0(\Delta^{\lambda}) = c_0(\Delta)$ and $\ell_{\infty}(\Delta^{\lambda}) = \ell_{\infty}(\Delta)$ are satisfied): For example, consider the sequence $\lambda = (a, ab, a^2b, a^2b^2, \cdots)$, where b > a > 1, that is $\lambda_k = a^{(k+1)/2} b^{(k-1)/2}$ when k is odd, or $\lambda_k = a^{k/2} b^{k/2}$ when k is even. Then, it can easily be shown that

$$u_k = \begin{cases} a/(a-1)\,; & (k \text{ is odd}) \\ b/(b-1)\,; & (k \text{ is even}) \end{cases} \qquad \Delta(u_k) = \begin{cases} (b-a)/[(a-1)(b-1)]\,; & (k \text{ is odd}) \\ -(b-a)/[(a-1)(b-1)]\,; & (k \text{ is even}) \end{cases}$$

$$\tilde{\Lambda}_n(u) = \begin{cases} \frac{b-a}{ab-1} + \frac{(a-1)(b+1)}{ab-1} (ab)^{-(n-1)/2}; & (n \text{ is odd}) \\ -\frac{b-a}{ab-1} + \frac{a(b^2-1)}{ab-1} (ab)^{-n/2}; & (n \text{ is even}) \end{cases}$$

where n, k > 1. Thus, it is clear that all of $u, \Delta(u), \tilde{\Lambda}(u)$ and $\tilde{\Lambda}(k)$ are oscillated.

II - When $u \notin \ell_{\infty}$ and so $\Delta(u)$ must be oscillated through $+\infty$, $-\infty$ or both (in this case, the inclusions $c_0(\Delta) \subset c_0(\Delta^{\lambda})$ and $\ell_{\infty}(\Delta) \subset \ell_{\infty}(\Delta^{\lambda})$ are strict): For example, consider the sequence

 $\lambda = (1, 3, 4, 8, 9, \dots)$, that is $\lambda_k = (k+1)^2/4$ when k is odd, or $\lambda_k = (k^2 + 4k)/2$ when k is even. Then, it can easily be seen that

$$u_k = \begin{cases} (k+1)^2/4; & (k \text{ is odd}) \\ (k+4)/4; & (k \text{ is even}) \end{cases} \Delta(u_k) = \begin{cases} (k^2+k-2)/4; & (k \text{ is odd}) \\ (-k^2+k+4)/4; & (k \text{ is even}) \end{cases}$$
$$\tilde{\Lambda}_n(u) = \begin{cases} (3n-1)/(3n+3); & (n \text{ is odd}) \\ (-n+4)/(3n); & (n \text{ is even}) \end{cases}$$

where n, k > 1. Hence, we have $u_k \to \infty$, $\Delta(u)$ is oscillated between $\pm \infty$, $\tilde{\Lambda}(u)$ is oscillated between 1 and -1/3, and so $\tilde{\Lambda}(k)$ will be oscillated between 0 and 4/3.

4 The Schauder bases for $c_0\left(\Delta^{\lambda}\right)$ and $c\left(\Delta^{\lambda}\right)$

In the last section, we construct the Schauder bases for the λ -difference spaces $c_0(\Delta^{\lambda})$ and $c(\Delta^{\lambda})$ and conclude their separability.

If a normed space X contains a sequence $(b_k)_{k=1}^{\infty}$ with the property that for every $x \in X$ there is a unique sequence $(\alpha_k)_{k=1}^{\infty}$ of scalars such that $\lim_{n\to\infty}\|x-(\alpha_1b_1+\alpha_2b_2+\cdots+\alpha_nb_n)\|=0$; then the sequence $(b_k)_{k=1}^{\infty}$ is called a Schauder basis for X (or simply a basis for X) and the series $\sum_{k=1}^{\infty}\alpha_kb_k$ which has the sum x is then called the expansion of x, with respect to the given basis, which can be written as $x=\sum_{k=1}^{\infty}\alpha_kb_k$, and we then say that x has been uniquely represented in that form. For example, the sequences (e_1,e_2,e_3,\cdots) and (e,e_1,e_2,\cdots) are the Schauder bases for the sequence spaces c_0 and c, respectively, where $e=(1,1,1,\ldots)$ and $e_k=(\delta_{nk})_{n=1}^{\infty}$ for each k, but the space ℓ_{∞} is non-separable and so it has no a Schauder basis [7].

Theorem 4.1 For each $k \geq 1$, define the sequence $e_k^{\lambda} = (e_{nk}^{\lambda})_{n=1}^{\infty}$ by

$$e_{nk}^{\lambda} = \begin{cases} 0; & (n \le k), \\ \frac{\lambda_k}{\lambda_k - \lambda_{k-1}}; & (n = k), \\ 1; & (n > k), \end{cases}$$
 $(n \ge 1)$

Then, the sequence $(e_k^{\lambda})_{k=1}^{\infty}$ is a Schauder basis for the space $c_0(\Delta^{\lambda})$ and every $x \in c_0(\Delta^{\lambda})$ has a unique representation in the following form:

$$x = \sum_{k=1}^{\infty} \tilde{\Lambda}_k(x) e_k^{\lambda}. \tag{4.1}$$

Proof. It is clear that $\Lambda_n(e_k^{\lambda}) = 0$ for $1 \leq n < k$ and $\Lambda_n(e_k^{\lambda}) = 1$ for $n \geq k$ and so $\tilde{\Lambda}_n(e_k^{\lambda}) = \delta_{nk}$ for all $n, k \geq 1$. Thus $\tilde{\Lambda}(e_k^{\lambda}) = e_k \in c_0$ and hence $e_k^{\lambda} \in c_0(\Delta^{\lambda})$ for all $k \geq 1$. This means that $(e_k^{\lambda})_{k=1}^{\infty}$ is a sequence in $c_0(\Delta^{\lambda})$. Further, let $x \in c_0(\Delta^{\lambda})$ be given and for every positive integer m, we put

$$x^{(m)} = \sum_{k=1}^{m} \tilde{\Lambda}_k(x) e_k^{\lambda}.$$

Then, we find that

$$\tilde{\Lambda}(x^{(m)}) = \sum_{k=1}^{m} \tilde{\Lambda}_k(x) \,\tilde{\Lambda}(e_k^{\lambda}) = \sum_{k=1}^{m} \tilde{\Lambda}_k(x) \,e_k$$

and hence

$$\tilde{\Lambda}_n(x - x^{(m)}) = \begin{cases} 0; & (1 \le n \le m), \\ \tilde{\Lambda}_n(x); & (n > m). \end{cases}$$

Now, for any positive real $\epsilon > 0$, there is a positive integer m_0 such that $|\tilde{\Lambda}_m(x)| < \epsilon$ for all $m \ge m_0$. Thus, for every $m \ge m_0$, we have

$$||x - x^{(m)}||_{\lambda} = \sup_{n>m} |\tilde{\Lambda}_n(x)| \le \sup_{n>m_0} |\tilde{\Lambda}_n(x)| \le \epsilon.$$

We therefore deduce that $\lim_{m\to\infty} \|x-x^{(m)}\|_{\lambda} = 0$ which means that x is represented as in (4.1). Thus, it is remaining to show the uniqueness of the representation (4.1) of x. For this, suppose that $x = \sum_{k=1}^{\infty} \alpha_k e_k^{\lambda}$. Then, we have to show that $\alpha_n = \tilde{\Lambda}_n(x)$ for all n, which is immediate by operating $\tilde{\Lambda}_n$ on both sides of (4.1) for each $n \geq 1$, where the continuity of $\tilde{\Lambda}$ (as we have seen in Remark 2.4) allows us to obtain that

$$\tilde{\Lambda}_n(x) = \sum_{k=1}^{\infty} \alpha_k \, \tilde{\Lambda}_n(e_k^{\lambda}) = \sum_{k=1}^{\infty} \alpha_k \, \delta_{nk} = \, \alpha_n$$

for all $n \ge 1$ and hence the representation (4.1) of x is unique, and this completes the proof.

Theorem 4.2 The sequence $(e^{\lambda}, e_1^{\lambda}, e_2^{\lambda}, \cdots)$ is a Schauder basis for the space $c(\Delta^{\lambda})$ and every $x \in c(\Delta^{\lambda})$ has a unique representation in the following form:

$$x = L e^{\lambda} + \sum_{k=1}^{\infty} \left(\tilde{\Lambda}_k(x) - L \right) e_k^{\lambda}, \qquad (4.2)$$

where $L = \lim_{n \to \infty} \tilde{\Lambda}_n(x)$, the sequence $(e_k^{\lambda})_{k=1}^{\infty}$ is as in Theorem 4.1 and e^{λ} is the following sequence:

$$e^{\lambda} = \left(\frac{n\lambda_n - (n-1)\lambda_{n-1}}{\lambda_n - \lambda_{n-1}}\right)_{n-1}^{\infty}.$$

Proof. It was already shown in the proof of Lemma 3.1 that $\tilde{\Lambda}(e^{\lambda}) = e \in c$ and so $e^{\lambda} \in c(\Delta^{\lambda})$. This together with $e_k^{\lambda} \in c_0(\Delta^{\lambda}) \subset c(\Delta^{\lambda})$ imply that that $(e^{\lambda}, e_1^{\lambda}, e_2^{\lambda}, \cdots)$ is a sequence in $c(\Delta^{\lambda})$. Also, let $x \in c(\Delta^{\lambda})$ be given. Then $\tilde{\Lambda}(x) \in c$ which yields the convergence of the sequence $\tilde{\Lambda}(x)$ to a unique limit, say $L = \lim_{n \to \infty} \tilde{\Lambda}_n(x)$. Thus, by taking $y = x - Le^{\lambda}$, we get $\tilde{\Lambda}(y) = \tilde{\Lambda}(x) - Le \in c_0$ and so $y \in c_0(\Delta^{\lambda})$. Hence, it follows by Theorem 4.1 that y can be uniquely represented in the following form:

$$y = \sum_{k=1}^{\infty} \tilde{\Lambda}_k(y) e_k^{\lambda} = \sum_{k=1}^{\infty} \left(\tilde{\Lambda}_k(x) - L \, \tilde{\Lambda}_k(e^{\lambda}) \right) e_k^{\lambda} = \sum_{k=1}^{\infty} \left(\tilde{\Lambda}_k(x) - L \right) e_k^{\lambda}.$$

Consequently, our x can also be uniquely written as

$$x = L e^{\lambda} + y = L e^{\lambda} + \sum_{k=1}^{\infty} (\tilde{\Lambda}_k(x) - L) e_k^{\lambda}$$

which proves the unique representation (4.2) of x.

Example 4.3 To give an example of the unique representation of a single sequence in particular spaces of $c_0(\Delta^{\lambda})$ and $c(\Delta^{\lambda})$, consider the sequence $\lambda = (\lambda_k)$ given by $\lambda_k = k(k+1)$ for $k \geq 1$. Then, we have $\tilde{\Lambda}_n(x) = \Lambda_n(x) - \Lambda_{n-1}(x)$ for all $n \geq 1$ and every $x \in w$, where

$$\Lambda_n(x) = \frac{2}{n(n+1)} \sum_{k=1}^n k \, x_k \,; \quad (n \ge 1).$$

This yields the following particular cases of the general spaces of λ -difference sequences:

$$c_0(\Delta^{\lambda}) = \left\{ x = (x_k) : \left(\frac{2}{n(n+1)} \sum_{k=1}^n k \, x_k \right)_{n=1}^{\infty} \in c_0(\Delta) \right\},$$

$$c(\Delta^{\lambda}) = \left\{ x = (x_k) : \left(\frac{2}{n(n+1)} \sum_{k=1}^n k \, x_k \right)^{\infty} \in c(\Delta) \right\}.$$

Further, with help of Theorems 4.1 and 4.2, the Schauder bases for these two spaces are respectively the two sequences $(e_1^{\lambda}, e_2^{\lambda}, e_3^{\lambda}, \cdots)$ and $(e^{\lambda}, e_1^{\lambda}, e_2^{\lambda}, \cdots)$, where

$$e_1^{\lambda} = (1, 1, 1, \cdots), \ e_2^{\lambda} = (0, 3/2, 1, 1, \cdots), \ e_3^{\lambda} = (0, 0, 2, 1, 1, \cdots), \ e_4^{\lambda} = (0, 0, 0, 5/2, \cdots), \ldots$$
 and
$$e^{\lambda} = \left((3k - 1)/2 \right)_{k=1}^{\infty} = (1, 5/2, 4, 11/2, \cdots).$$

Now, consider the sequence $y=(y_k)\in c_0(\Delta^\lambda)$ defined by $y_k=(k+1)\sqrt{k}-(k-1)\sqrt{k-1}$ for $k\geq 1$. Then, we have $\Lambda_n(y)=2\sqrt{n}$ and so $\tilde{\Lambda}_n(y)=2(\sqrt{n}-\sqrt{n-1})$ for all $n\geq 1$. Thus, our sequence y has the unique representation $y=2\sum_{n=1}^\infty(\sqrt{n}-\sqrt{n-1})\,e_n^\lambda$ in terms of the Schauder basis (e_n^λ) of the space $c_0(\Delta^\lambda)$. In addition, if we define $x=(x_k)$ by $x_k=1-3k+y_k$ for $k\geq 1$. Then, we find that $\tilde{\Lambda}_n(x)=-2+\tilde{\Lambda}_n(y)$ for all $n\geq 1$. Thus $x\in c(\Delta^\lambda)$ such that $\lim_{n\to\infty}\tilde{\Lambda}_n(x)=-2$. Hence, by applying Theorem 4.2, the sequence x has also a unique representation $x=-2\,e^\lambda+2\sum_{n=1}^\infty(\sqrt{n}-\sqrt{n-1})\,e_n^\lambda$ in terms of the Schauder basis $\left(e^\lambda,e_1^\lambda,e_2^\lambda,\cdots\right)$ of the space $c(\Delta^\lambda)$.

Corollary 4.4 We have the following facts:

- (1) The spaces $c_0(\Delta^{\lambda})$ and $c(\Delta^{\lambda})$ are separable BK-spaces.
- (2) The space $\ell_{\infty}(\Delta^{\lambda})$ is a non-separable BK-space and has no a Schauder basis.

Remark 4.5 We end our work by expressing from now on that our aim of the next paper is to determining the duals of our difference λ -sequence spaces and characterizing some matrix operators between them.

References

- [1] S. Erdem and S. Demiriz ,(2019), ,On the new generalized block difference sequence space, Appl. Appl. Math., 5 68–83.
- [2] M. Et, ,(2017), Generalized Cesa`ro summable difference sequence spaces, Creat. Comm. Attr., in: ITM Conf. CMES 13, , pp. 1–5.
- [3] A. Ganie and A. Antesar, (2020), *Certain sequence spaces*, Adv. Stud. Comt. Mat., **30**(1) 17–27.
- [4] A. Ganie and N.A. Sheikh, (2013), On some new sequence spaces of non-absolute type and matrix transformations, Egypt. Math. Soc., **10**(1) 1–12.
- [5] A. Ganie and others ,(2020),, Generalized difference sequence space of non-absolute type, J. Sci. Data Anal., **2**(1) 147–153.
- [6] V. Karakaya, N. S,im, sek and K. Dogan, ,(2016), New matrix domain derived by the matrix product, Filomat, **30**(5) 1233–1241.
- [7] I.J. Maddox, *Elements of Functional Analysis*, The University Press, 2st ed., Cambridge, 1988.
- [8] J. Meng and M. Song,(2017),. *Binomial difference sequence spaces of order m*, Adv. Diff. Equ., 241 1–10.
- [9] J. Meng and M. Song, *On some binomial difference sequence spaces*, Kyun. Math. J., 57 (2017), 631–640.
- [10] M. Mursaleen and A.K. Noman ,(2010), On the space of λ -convergent and bounded sequences, Thai J. Math. Comput., **8**(2) 311–329.
- [11] M. Mursaleen and A.K. Noman, ,(2010), *On some new difference sequence spaces of non-absolute type*, Math. Comput. Model., 52 603–617.
- [12] M. Mursaleen and A.K. Noman ,(2011), On some new sequence spaces of non-absolute type related to the spaces `p and `w I, Filomat, 25(2) 33–51.
- [13] H. Polat, F. Ba¸sar,, (2007), Some Euler spaces of difference sequences of order m, Acta Math. Sci., 27B 254266.
- [14] H. Polat, V. Karakaya, N. S,im,sek, (2011), Difference sequence space derived by using a generalized weighted mean, App. Math. Lett., 24 608614.

- [15] H. Roopaei and D. Foroutannia (2016), *A new sequence space and norm of certain matrix operators on this space*, Sahand Commun. Math. Anal., **3**(1) 1–12.
- [16] M. Stieglitz and H. Tietz,(1977), Matrixtransformationen von folgenr aumen eine ergebnisu bersicht, Math. Z., **154**1–16.
- [17] S. Thalapathiraj and others,(2020,) Some difference sequence spaces defined by Orlicz function, Creat. Comm. Attr., in: AIP Conf. Proc., , pp. 1–10.
- [18] A. Wilansky,(1984), Summability Through Functional Analysis, North-Holland, 1st ed., Amsterdam,.
- [19] T. Yaying,(2019), On a new class of generalized difference sequence spaces of fractional order defined by modulus function, Proy. J. Math., **38**(3) 485–497.